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RELAÇÃO DO AÇO

Negativos
Positivos

AÇO N DIAM
QUANT

C.UNIT C.TOTAL

(mm) (cm) (cm)

CA60 1 5.0 146 596 87016

2 5.0 146 93 13578

3 5.0 187 VAR VAR

4 5.0 12 143 1716

5 5.0 31 VAR VAR

CA50 6 6.3 35 275 9625

7 6.3 5 507 2535

8 6.3 46 936 43056

9 6.3 3 732 2196

10 6.3 2 466 932

11 8.0 60 227 13620

12 8.0 53 506 26818

13 8.0 35 936 32760

14 8.0 35 519 18165

15 10.0 6 227 1362

16 10.0 7 VAR VAR

17 10.0 7 274 1918

18 10.0 7 VAR VAR

19 10.0 6 730 4380

20 10.0 2 472 944

21 10.0 2 480 960

22 12.5 1 737 737

23 12.5 2 466 932

24 12.5 2 607 1214

25 12.5 4 467 1868

26 12.5 2 480 960

RESUMO DO AÇO

AÇO
DIAM

(mm)

C.TOTAL

(m)

PESO + 10%

(kg)

CA50 6.3 583.4 157

8.0 913.3 396.4

10.0 241 163.5

12.5 57.1 60.5

CA60 5.0 1352.4 229.3

PESO TOTAL

(kg)

CA50 777.5

CA60 229.3

Volume de concreto (C-35) = 16.58 m³

Área de forma = 0.00 m²
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Área de forma = 28.20 m²

Volume de concreto (C-35) = 1.66 m³

51.5CA60

227.1CA50

(kg)

PESO TOTAL

51.5303.65.0CA60

159.7150.712.5

67.399.310.0CA50

(kg)

PESO + 10%

(m)

C.TOTAL

(mm)

DIAMAÇO

RESUMO DO AÇO

VARVAR6212.58

2550753412.57

24060410.06

VARVAR210.05

VARVAR4810.04CA50

126001051205.03

3510261355.02

14250951505.01CA60

(cm)(cm)(mm)

C.TOTALC.UNIT
QUANT

DIAMN
AÇO

P18P17P16

P127xP72xP4

3xP3P2P1

RELAÇÃO DO AÇO

ARMAÇÕES DE LAJE E SEÇÃO
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